
November 8, 2019

1. What is the slope and point on the line for the following equations:

y - 5 = 3(x - 2)

y + 4 = 1/2 (x + 4) 

Warm Up

3. Find the x and y intercepts of the following 
equation: 9x - 3y = 81

2. Is (1, -7) on the line y - 9 = -4(x+ 3)?
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Homework Check:
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Writing linear equations
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Find an equation of a line in slope intercept form when the slope is 
5/2 and (-2, 9) is a point on the line.

Find an equation of a line in slope intercept form when the slope is 
-8 and (-2, -3) is a point on the line.
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Finding an equation when you are given two points.

1. Find the slope

2. Put the equation in point slope form

3. Simplify to make slope intercept form.
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Find an equation of the line that passes through the points:

(2,1) (5,-8)

 Step 1: Find the slope

Step 2: Make a point slope form equation

Step 3: Convert to slope intercept form
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Find an equation of the line that passes through the points:

(9, -4) (15, -8)
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Write an equation for the following table
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Find an equation of the line that passes through the points:

(-5, 9) (-9 ,4)
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Find an equation of the line that passes through the points:

(7, 9) (7, 5)
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